S
.

0|(§ dxy) (cm)

2 3

o(d dz) (cm)

Ratio

0.9

0.8

1071

| H B -+ H
. +| . : -x ]
= SRR SR - g gE s = 3 -{ -
o -+ d o + | + A
. ' . O N o
; ] + + (4 [T ;
Lo+ T ] . : :
ol t R N NE 2NN -1
1 : + . :
H H H = [ H
2 -4 q e b 2
o 1 a h -4 o
i i i i i

—=— DQM_CKF_TTbase
—e— DQM_CKF_TT retrainOIldFiles113
—— DQM_CKF_TT_retrainOIldFiles125_v2

o(d o) (rad)

=
<
N

PR Yy M A

O 1.2 . . :

= H: : : :

) H: 2 2 2 +

T ] 2 SR ST B B T B B 1 T -
if : : 44 +
i : : +| | T :

1gb- -4+ EEREEN B & S B = O ) R B 3 REY £ 5

H: H B J L 3 H
Hi i i i i b 1

2 3
TP ® (PCA to beamline)

o p_/p.)

T
Rl

* T

i.b.g.
W

2 3
TP ® (PCA to beamline)



	Contents
	Page 1


